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{ TINA Interpreter }
VR:=V*R/(R+2*R);
V2R=V*2*R/(R+2*R);
VR=[50]

V2R=[100]

{ TINA Interpreter }
V1:=VS*R1/(R1+R2+R3+R4);
V2:= VS*R2/(R1+R2+R3+R4);
V3:= VS*R3/(R1+R2+R3+R4);
V4:= VS*R4/(R1+R2+R3+R4);
V1=[500m]

V2=[1]

V3=[1.5]

Va=[2]

{ TINA Interpreter }
V1:=V*R3/(R3+R4);
V1=[100]
V2:=V*R4/(R3+R4);
V2=[100]

{ TINA Interpreter }

V4:=VS*(Replus(R4, (R2+R3)))/(R1+Replus((R2+R3), R4));

V:=V4*R2/(R2+R3);
V=[40]
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{ TINA Interpreter }
R12:=Replus((R1+R2), (R1+R2+R3));
V12:=Vs*R12/(R2+R12);
Vab:=V12*(R2/(R1+R2)-R1/(R1+R2+R3));
Vab=[500m]
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{ TINA Interpreter }
11:=1s*R2/(R1+R2);
12=1s*R1/(R1+R2);
11=[2]
12=[3]
210N
=1, Rs 1 R+§3+R= 21 10:?+4=U.1818A
!?5+F.’2+L—I U 2+2+L+¢
fa el [T

{ TINA Interpreter }
Is:=(R5*R3)/(R1*R3+R2*RR1+R5*R1+R2*R3+R4*R3+R4*R2+R4*R5)*IS
Is=[181.8182m]



